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WIER BERROHHERICET A RMRET R
% g & - BARTE Bifg = il ® & i

E R 7,638,950 + 131,554 7,770,504
EEAGE 7,638, 950
EEEE 131, 554
T DR 7,638,950 x 53.85% ( 35% + (1 — 35%) ) 4,113,574
KHRE 7,770,504 + 4,113,574 11,884,078
—REEES 11,884,078 x 53.85% ( 35% = (1 — 35%) ) — 3,654 6,395, 922
ES it 11,884,078 + 6,395,922 18, 280, 000
HBETEALE 18,280,000 x 10.00% 1,828, 000
EBREH 18,280,000 + 1,828, 000 20,108, 000
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BRI 7,770, 504
FHE - BA% - SAEEEH 7,770, 504
RS E X 7,770, 504
EiEAGE 7, 638, 950
HIEE 448,100
1 EtE#E 1.00 448,100 448,100
=
BT IRICEET 55t 2,225,100
2 EEGHEEREICAIT-XEORKRE 1.00 2,225,100 2,225,100
=
ETEORE 3,910, 900
3 E - MERVER - BE 1.00 2,423, 650 2,423, 650
=
4 BESEHDER 1.00 1, 487, 250 1,487, 250
=%
& - |E 583, 500
5 EfFIHE 1.00 126, 500 126, 500
G
6 hRAsRE 2.00 126, 500 253, 000
G
1 B#R#E 1.00 204, 000 204, 000
G
BEM 471, 350
8 EHBTHEEMER 1.00 471, 350 471, 350
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EERE 131, 554
EHRARE 70, 554
9 EHERARE 1.00 70, 554 70, 554
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RE 61,000
10 EHERER 1.00 61,000 61,000
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HFE5:1
B - FHEER XLy
% 7 L - IRTiE BAf H = B @ & # = " =
HEnR
A 1.00 77, 500. 00 77,500
EX T TC D)
A 1.50 66, 900. 00 100, 350
A (A)
A 2.50 59, 600. 00 149, 000
A (B)
A 2.50 48, 500. 00 121, 250
& &t E%8EH : 1.00= 448, 100. 00 448,100
F#E5:2
£ REMCHERTEICA T ZIEOKE % (=)
% 7 L - IRTiE BAf H = B @ & % = " =
EXTTC )
A 7.00 66, 900. 00 468, 300
A (A)
A 11.50 59, 600. 00 685, 400
A (B)
A 8.00 48, 500. 00 388, 000
HEm (C)
A 8.00 40, 300. 00 322, 400
Hftt &
A 10. 00 36, 100. 00 361, 000
& i E%4EH : 1.00=K 2,225,100. 00 2,225,100
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A 10. 50 66, 900. 00 702, 450
A (A)
A 11.00 59, 600. 00 655, 600
A (B)
A 12.00 48, 500. 00 582, 000
HEm (C)
A 12.00 40, 300. 00 483, 600
& &t E%8EH : 1.00= 2,423, 650. 00 2,423, 650
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27 BESEHOMER % (=)
% 7 L - IRTiE BAf H = B @ & % & &
EXTTC )
A 3.50 66, 900. 00 234,150
A (A)
A 7.50 59, 600. 00 447,000
A (B)
A 8.00 48, 500. 00 388, 000
HEm (C)
A 5.00 40, 300. 00 201, 500
Hftt &
A 6.00 36, 100. 00 216, 600
& i E%4EH : 1.00=K 1, 487, 250. 00 1,487, 250
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% 7 L - IRTiE BAf H = B @ & # & &
EX T TC D)
A 1.00 66, 900. 00 66, 900
A (A)
A 1.00 59, 600. 00 59, 600
& it fE%8eH - 1.00E= 126, 500. 00 126, 500
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A% hRRE HEED)
2 o g - BIRTE BT H = B ff ® W= " =
F1EBAR GEED
A 1.00 66, 900. 00 66, 900
AR (A)
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& it YE%8EH 1. 00[E 126, 500. 00 126, 500
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B RBRBRE EED)
2 £ g - BIRTE BT H = B ff ® W= " =
AR
A 1.00 77, 500. 00 717, 500
F1EBER GEED
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.00 59, 600. 00 59, 600
& it YE%8EH 1. 00[E 204, 000. 00 204, 000
F5:8
B EBTRREER 1KY
2 £ g - BIRTE BT H = B ff ® W= " =
F1EBAR GEED
A 1.50 66, 900. 00 100, 350
AR (A)
A 2.50 59, 600. 00 149, 000
AR (B)
A 2.50 48, 500. 00 121, 250
HAf (C)
A 2.50 40, 300. 00 100, 750
& it 1EZRER : 1.00 471, 350. 00 471, 350
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